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#define MAX 8 void producer() {
int datal[MAX]; ook als
int count = 0; for (1= 0; i < 32; «itv) {
void push(int d) { e
while (count == MAX); push(i);
data[count] = d; ik
count = count + 1; }
} void consumerl() {
int pop(void) { shofpe el speuls
int wval; for Ei= 05 1 < 16 bt il
while (count == 0); val = pop();
val = datalcount - 1]; ol s k.
count: = counti = 1 }
return val; }
} void consumer2() {
K\ amt - iyl
for @G = 0: 5 <16 St 6
val = pop(Q);
TES ek s
+
}
L o

1. A7a 7S LE7at ABDOEAZ & > TOERWIDITIEL EDEV, EDEK S RO

L EICHEMNEL B0, FTEFZRL THRIERZ RS,

2. LITFIC/RT test_and set D BRI N TWVWA LIRET %, AEEIX MO T ADETL

RAITICEITE NS,

int test.and set(int *p) {
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*p = 1; return tmp; }
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int Tock = 0

void push(int d) {

while (test_and_set(&lock) == 1);
while (count == MAX);

datalcount] = d;

count = count +.1;

lock = 0;

D\

int pop(void) {

int val;

while (test_and_set(&lock) == 1);
while (count == 0);

val = datalcount - 1];

counit, = count ='1;

lock = 0;

return val;
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int . lock = 05 int pop(void) {
void push(int d) { int val;
while (count == MAX); while (count == 0);
while (test_and_set(&lock) == 1); while (test_and_set(&lock) == 1);
datal[count] = 4; val = datalcount —='1];
count = count -+ 13 count: = count == 1=
Tiocks = 0 lock = 0;
Iy return val;
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